MATERIAL ~ LIST— R—-117 REGULATOR STATION

ITEM
1.

NSO NSO N NN

1Y AR A AAANNNARN
SERNSBARUNIYSEISORLNISLREYSHRUENTIRININRNNRNISISaRG

QUANTITY

STOCK NO.

NONE

NONE
R-397
NONE
RrR-370
R-375
NONE
PBE-4571
PB—-552X42
PB—-653X52
NONE
CA-651X52
CS—-455
EL-555X52
EL-557X52
EL-657X52
EL-702X52
NONE
FL—449
FL—453
FL-553
FL-562
FL-657
FL-658
FL-660
FL-667
NP—104XH

PL-025

PL-101
RE-653Xx52
SA-150
TE-651X52
NONE
NONE
TE=-7171X52
VA-110
VA-210
NONE
va-557
VA-565
VA-668
H-5
H-11
H-34
H-114
H-153
H-154
H-159
H-181
H-266
H-267
H-296
H-332
H-333
H-334
H-537
NONE
NONE
NONE

DESCRIPTION

3” Mooney Flowgrid Single port regulator, 100% cage (change fo 50% ifem 7):)5'6‘ 18,
ANS/ 600 (Special order)
Mooney Series 20H Pilot ¢/w Black spring 200-520 P.S.I.G., Stock No.FP—41 (PRV) (Special order)
6" Mooney Flowgrid Single port regulafor, FG 45, ANS/ 300
Mooney Series 20H Pilot ¢/w Black spring 200-520 P.S.1.G., Stock No.FP—43 (BPV) (Special order)
Mooney Type 24 restrictor
1/4” Mooney Series 30S pilot supply filter, 1500 P.S.1.G.
50% Capacity throftfle plate for 3° Mooney regulator FG18, #103—-110-01 (Special order)
3°%0.216” w.t, Bare steel pipe, APl 5L, Grade B, PO #
4"%0.237” w.t, Bare steel pipe, APl 5L, Grade X42, PO #
6"x0.280” w.t. Bare steel pipe, APl 5L, Grade X52, PO #

8%0.322” w.t. Bare steel pipe, APl 5L, Grade X65, P.O. # _________ (Special order)

6" Weld cap, Grade Y52

Standard brass padlock fo lock valves (District purchase)

4” 90° Weld elbow, Grade Y52

4"x3” 90° Weld reducing elbow, Grade Y52

6" 90° Weld elbow, Grade Y52

8"x6” 90° Weld reducing elbow, Grade Y52

8"x4” 90° Weld reducing elbow, Std. wght, Grade Y65 (Special order)
3” Type "E” gasket, ANSI-600

” W.N., RF. flange, ANSI-600

W.N., RF. flange, ANS/-600

Type "E” gaskel, ANSI-600

W.N., R.F. flange, ANSI-300

W.N., R.F. flange, ANSI-600

” Type "E” gaskel, ANSI-300

6" Type "E” gaskel, ANSI-600

1/27x3” X.H. Nipple

1/4” Pipe plug, Square head, Solid, 3,000§

1/2” Pipe plug, Square head, Solid, 3,000§

6"x3” Weld reducer, Grade Y52

1"x6” Weld saddle

6"x6"x6” Weld tes, Grade Y52

8"x8"x8” Weld fee, Std. wght, Grade Y65 (Special order)

8"x8"X4” Weld tee, Std. wght, Grade Y65 (Special order)

8"x8°x6” Weld fee, Grade Y52

1/2” Ball valve, WKM #1/2R-B136—CS2-435-S2-WR, Threaded, 3,000§
17 Ball valve, WKM§ 1F—B138—CS2—43—-S2—WR, Threaded, 3,0004

6" Nordstrom Plug valve, WxF, #2045 1/4, ANSI-300 — short pattern (Special order)
4” Nordstrom Plug valve, WxW, #2245 1/2, ANSI-600 - regular pattfern
4” MNordstrom Plug valve, WxF, #2245 1/4, ANS/-600 — regular pattern (Special order)
6" Nordstrom Plug valve, WxF, #2249 1/4, ANS/-600 (Special order)
6” Weathercap c/w flag

1/2” Bonney Thred—0-Let, 3,000

1"x1/4” Steel hexagon bushing

1"x3”  Mueller Save—A—Valve body only #63494, 14404

4” UHMW Polysthylens pipe guide

6” UHMW Poly pipe guide

3” UHMW Polysthylens pipe guide

3/4"x4 1/2" Cap screw

3/47 Heavy hex nut

7/8” Heavy hex. nut

17 Heavy hex. nut

3/4"-10x5" Stud bolf, ASTM A193, Gr B7

7/87-9x5 3/4” Sftud bolt, ASTM A193, Gr B7

17-9x6 3/4" Stud bolf, ASTM A193, Gr B7

3” Keckely strainer, FxF, SGFV, ANSI-600

N W
T w8

0’0;%&

MATERIAL  LIST — Site O171Ken Gate main inferconnefs

ITEM QUANTITY STOCK NO. DESCRIPTION

70. 2’ NONE 8"x.322” w.t. Bare stsel pips, APl 5L, Grade X65, P.O. (Special order)
71. 3’ PFBE-550X42 4°x0.188” w.t. FBE coated stsel pipe, APl 5L, Grade X42, DRL, ERW, P.O. #
72. 100° NONE 8°x0.322” w.t. FBE coated steel pipe, AP/ 5L, Grade X65, PSL2, DRL, P.O. #
73. 14 CA-551X52 4” Weld cap, Std. wght, Grade Y52

74. 2 CA-7071X52 8" Weld cap, Std. wght., Grade Y52

75. 4 NONE 8” 90° Weld elbow, Std. wghl, Grade Y65 (Special order)

76. 14 FL-703 8” W.N., RF. flange, ANSI-600

77. 7 FL-823 8” Type "E” gasket, ANSI-600

78. 12 FL-906 1 1/8"x2 13/16” G-10 Insulated sleeve & washer assy.

79. 3 NP-210 1"x3” Save-A—Valve w/steel cap, Mueller #H—17491300, 1440 PSIG

&0. 3 SA-2710 1"x8” Weld saddle

a1. 7 TE=-707X52 8°x8"X4” Weld fee, Std. wght., Grade Y52

82, 14 TE-701X52 8"x8"x8” Weld tee, Std. wght, Grade X52

83. 12 NONE 7 1/87-7x 8 1/4” Stud bolt, ASTM A193, Gr B7, (Special order)

84. 24 H-297 1 1/8"-7 Heavy hex nut

85, 30’ PFBE-710X52 8°x0.250” w.t. FBE coatsd stes/ pips, APl 5L, Grade X52, PSL2, DRL, P.O. #

MATERIAL  LIST- Site O11Ken Gate corrosion protection

(Special order)

(Special order)

ITEM QUANTITY STOCK NO. DESCRIPTION
90. 7 CP-717 8"x0.322”w.t, Monolithic insulatin joint, Zunt, ANS/-300
91. 2 CcS-880 Test station, Cott Big Fink, Std. terminal, Yellow, 3” PE PST
92. 7 H—-48 17-LB HP Mag anode, 17D3, Pre—packaged w/ 25 ft #12 THHN Solid blk lead
2”
MATERIAL  LIST — 8~ HP Odorizer Infection Assy. sh 6
Sheet Index:
Sh 71 Material list— regulator, RV & mains
. . Sh 2 Site plan
Field Test— R117— Inlet Main | | pie]d Test— R117— Outlet Main Sh3 RI1plan & profie
. infe ypass profiles
7est through all new 8 f1P main Jesting /nstructions.: 7est through o/l Sh 5 Relief valve assy. plan & profile
wpstrearm of R-117, mcluaing through new 8" HP main downstream of R117 Sh 6 Odorant injection assy materials
7 ) i i Sh 7 Odorant injection assy plan & profile
V754 with the outlet to R-117 capped. cludling through V-155 ond the relief s 3 ppe . pr ot et pror
STEP 1 stack from the R-117 tie-in pomnt to the Sh 9 4" pipe support details
capped end of Outler man. Sh 10 67 pipe support details
PRESSURE  TEST ) iy
AN valves to be in the open positiorn,
TEST PRESSURE . . ......... 100. . . . psiG. ; ; .
TEST MEDIUM . ... ... ... NITROGEN. . . . .. with a blind flange instolled atop the
TEST DURATION . . . v ov v v L HOURS 7 D N
LEAK SURVEY BY . .o vinnnnnn s rele stock valve. SOUfﬁng e Gate:
DATE. . . ooveannn TME. .. ovveeenn ] Coordinate with R117Ken installation
Coordinate with V154Ken installation
STEP 1 Coordinate with V155Ken installation
STEP 2 Coordinate with HiKen (V167-9) installation
PRESSURE — TEST PRESSURE __ TEST Coordinate with future O77Ken installation
I3 TEST PRESSURE . . . . ....... 100. . . . psiG. Coordinate with future Telemelry bldg installation
CERTIFICATION PRESSURE . . . . . . .05, . . . PS16. TEST MEDIUM .« . ... ..... NITROGEN. . . . .. Coordinate with future 8" HP main installation
TEST PRESSURE . . . ....... 1225 .. . psic. 1 Followi V=155
TEST MEDIUM NITROGEN TEST DURATION . ... vvvvvnn bt HOURS ollowing
TEST DURATION . - ... . B HOURS LEAK SURVEY BY . . .ottt iit e Coordinate with future R120Ken installation
DATE COMPLETED « « « .+« oo DATE. ........... TME . .o Coordinate with future V172Ken installation
BY e e Coordinate with future V173Ken installation
conimicrin STEP 2
ATTESTED . . & ¢ i v i i i ie v oo v v oo a o a s
AL PRESSURE  TEST
CERTIFICATION PRESSURE . . . . . . . 500. . . . psiG.
TEST PRESSURE
TEST MEDIUM
TEST DURATION
DATE COMPLETED . .
BY ........
ATTESTED . o v oot o et

3”  Pipe guide w/ 4" Pipe support assy. w/ 18" dia. conc. foundation (Fab shop fabricals) ref sh 8/10
4” Pijpe guide w/ 4” Pipe support assy. w/ 18” dia. conc. foundation (Fab shop fabricate) ref sh 9/10
6" Pipe guide w/ 6" Pipe support assy. w/ 24" dia. conc. foundation (Fab shop fabricate) ref sh 10/10

*F/'e/a’ fo install new 50% fthrottle plates item 7
All 6” or above X52 pipe/fittings: Fabrication requirements

NOTE: All bare underground pipe fo be field wrapped during installation

0—117 Odorizer & R—1720 Secondary regulator to be future installs
Rev A: Revised material list & added Odorant injection assy

INLET CERTIFIED FOR 811 P.S.I.G. WOF# 214539
7 — Scale _NONE Drawn____SB CASCADE NATURAL GAS CORPORATION
1{2 ;/ZE O,DR/:‘W;,NG Scaled Date  3-3-715 | Check N/A 8113 W Grandridge Blvd Kennewick, WA 99336
© 72 Ingicate Eng. Meas. W74 R—117 Primary Reg at O—11 Southridge
|owg. Name R777Ken A 1 10 6300 Brinkley Rd Kennewick, WA




)

-
Assumes 4’ depth fo top of UG pipe
for V=155
SITE PLAN
10"
SE 1/4 Sec. 17, T-8-N, R—-29-F
Benton County Kennewick, WA

Geocorfex Lat: 46.1716
Lon: —119.2065

Southridge Gate:

Coordinate with R117Ken installation
Coordinate with V154Ken installation
Coordinate with V155Ken installation
Coordinate with O71Ken installation
Coordinate with H1Ken (V167-9) installation
Coordinate with Telemelry bldg installation
Coordinate with 8” HP main installation
following V—155
Coordinate with R120Ken installation
Coordinate with V172Ken installation
Coordinate with V173Ken installation

NOTE: All bare underground pipe fo
be field wrapped during installation

V> SIZE DRAWING— Scaled
to V> indicated

INLET CERTIFIED FOR 811 P.S.1.G. WO# 2714539

Scale_As—Noted  [Drawn ___ SP CASCADE NATURAL GAS CORPORATION
Date  3-3-75 Check N/A 8113 W Grandridge Blvd Kennewick, WA 99336
Eng. JF Meas. _ N/A R—117 Primary Reg at O—11 Southridge

Dwg. Name R777Ken A 2 10 6300 Brinkley Rd Kennewick, WA




12°-7"

81 1/4”

Control __ line

Control __ line

REG RUN# 2

3 3
I
. N NBleed line 2 .
N 3 Pressure N N
N N supply line N |
~ 9 R ~
Q Q
OUTLET |
-3 1/2” To Inj.
Assy.
o y
‘ HP BYPASS | N
5 - D) - — 13
Yo I o
|
=
8'-1 1/4” :
I : "8 s
Control __line | | .?
Control ___ line | |
I
NBleed line é&u”
Pressure
supply line
PLAN  VIEW .
} T - g _? T See Sh 5/10 for Horizontal
| 6" pipe x 10 pipe dias= 60°=5 Relief Valve Assy
12°-7”"
1'-1 1/4" 4-4”
Control _line
Control _line
i
X — ] i
N N
A N
] 56
= ]
‘ ~
a |
2 9| 1 ]
o of N
g | R
oy @) N
! |
~
. | K”J
N i W
N4
3 | S
Finished = T ©
©_00Q.0
9799 Grode Gravel °P5%° | ! | A s
\ N Q H N3
JIRS Y
\\ L)) 3 . B & _@.E
\X NS ey )5 See Sh
AL~ To firm bearing
REG RUN. ’}{/ 7 PROFILE District_install
NOTE: All bare underground pipe fo be field wrapped during installation DETAIL

NOTE

Except for fakeoff lines that can

be jsolated from sources of pressure
by other valving, a shutoff valve
must be installed in each fakeoff
line as near as practicable fo the
point of takeoff. When the station

/s operafing and personne/ are nof
on site, the shufoff valve must be
profected from unauthorized operation
by installing a locking device or
removing the operating handle.

NOTE

7. 20° Minimum separation is preferred, confact
Engineering if this /s not practical.

2. Padlock relief block valve in OPEN position,
By—pass valve in CLOSED position.

Field to install new 50% throttle plates item 7 into jtem 1 regs
NOTE: Field fo route control lines as required

FAB SHOP TEST- RI117
STEP 1

PRESSURE __ TEST

TEST PRESSURE
TEST MEDIUM . .. .......
TEST DURATION . . .

LEAK SURVEY BY

STEP 2

PRESSURE __ TEST

CERTIFICATION PRESSURE . . 815 .. . psic
TEST PRESSURE .
TEST MEDIUM
TEST DURATION .
DATE COMPLETED . . .

Vo SIZE DRAWING— Scaled
to Yo indicated

5/10 for Horizontal Relief Valve Assy

INLET CERTIFIED FOR 811 P.S.I.G. WO# 214539
Scale 77=7—0" _ |Drawn S8 CASCADE NATURAL GAS CORPORATION
Date  3-3-75 Check N/A 8113 W Grandridge Blvd Kennewick, WA 99336
Eng. JF Megs. NA R—117 Primary Reg at O—11 Southridge
Dwg. Name R71717Ken A 3 10 6300 Brinkley Rd Kennewick, WA




725
W

NOTE

1. 20° Minimum separation is preferred, contact
Engineering if this is not practical.

2. Padlock relief block valve in OPEN position,
By—-pass valve in CLOSED position.

5
N
R
Finished =~
grade Grade Gravel °P%° = 2030
/S |__|
|1
@ 9
DETAIL  C—C” INLET HEADER
12°-7"
6-3 1/2” ) 6-3 1/2”

ANSI 600

@ %, |
p @\ ANS/ 600
| -
N\

| ©

3-6"

Finished
grage Grave/ °f5e° P8%° |
TE  Grode 7E ;:
A
AN
INLET S OUTLET_

To Inj.
Assy.

/J

DETAIL "B=B”
BY—PASS RUN

Yo SIZE DRAWING— Scaled
to Yo indicated

INLET CERTIFIED FOR 811 P.S.1.G. WO# 2714539
Scale 77=7"-0" Drawn SB CASCADE NATURAL GAS CORPORATION
Date  3-3-75 Check N/A 8113 W Grandridge Blvd Kennewick, WA 99336
. . . . . Eng: SE Meas. N/A R—117 Primary Reg at O—11 Southridge
NOTE: All bare underground pipe fo be field wrapped during installation Dwg. Name R777Ken A 4 10 6300 Brinkley Kennewick, WA




5—6" |
Installed by » |

district FLT

Control line |
[=:

OUTLET,
fo \—-155

Installed by
district

NOTE D"
e S 1. 20’ Minimum separation is preferred, confact
b\‘§ Engineering if this i[s not practical. U
l\"J = . 2. Padlock relief block valve in OPEN position,
Nofe 1 5§38 By—pass valve in CLOSED position.
Q%
5 I_ 6 ”
4-8”
Control line :la
R
M
| §
N
§|3
NE
@ 3|8
ANS/ 300 IR
I BRRE
kS 0 N| 8
N wp [T
N
° S
~ Y
. Note 2 1=6 5/8" =
BN 69%)
©f N LAY | \@)
NS
i &
~ “ 9
W Field to route conftro/ @
S 54 lines as required /‘
%
N |
> Finished
e rade
°?8v° : Gravel °£e  Grade g

I/ I/

g
|
|
|

Foyod Relief Valve Assy I

| | I

‘2.
[ PROFILE  TO  NORTHEAST (:;,. e
@\/ L VIEW "D”-"D" '
N ; ;
A 87w To firm bearing
|~ ] OUTLET fo V=755
\ L
~LZ

Note: All underground bare steel pipe to be field wrapped during installation.

FAB SHOP TEST
RELIEF VALVE TEST
STEP 1
PRESSURE TEST
TEST PRESSURE . . o o oo .. 100, . . . ps.G.
TEST MEDIUM . . o .ev ... NITROGEN. . . . ..
TEST DURATION . . . . . . . ... 1.HR . .. Hours
BY
DATE . v vt ettt
STEP 2
PRESSURE TEST
CERTIFICATION PRESSURE . . . . . . . 500. . . . ps.c.
TEST PRESSURE . . . ... ..... 750, . . . psic.
TEST MEDIUM . . .......NITROGEN
TEST DURATION . . . ... ..... 4 ... HOURS
DATE COMPLETED . . . .\ vt oot e e
BY e e
'CONTRACTOR
ATTESTED + o oo et e oo e et e et
(CASCADE NATURAL GAS CORP.
INITIAL FIELD SETTINGS
RELIEF VALVE SET POINT. .. ... ......... 248. . . psic.
OPERATING WORKER REGULATOR LOCKUP . ... 240 .  Ps.6.
OPERATING MONITOR REGULATOR LOCKUP. . . .. 250 Ps.G.
STANDBY WORKER REGULATOR LOCKUP. . . ...235 . . psie.
STANDBY MONTOR REGULATOR LOCKUP. . . . . . 250 psic.
MAXIMUM ALLOWABLE SETTINGS
RELIEF VALVE SET POINT. .. ............ 248. . psic.
OPERATING WORKER REGULATOR LOCKUP . ... 245 . . P.s.6.
OPERATING MONITOR REGULATOR LOCKUP. . . . .250 . Ps.G.
STANDBY WORKER REGULATOR LockuP. . ... 240 . psic.
STANDBY MONITOR REGULATOR LOCKUP. . .. . . 250 psic.
SYSTEM PRESSURES
PS.IG.
P.S.IG.
P.S.G.
.. PSIG.

V> SIZE DRAWING— Scaled

to Vo indicated

WO# 2714539
Scale 7_7/27=7"-070rawn __SP CASCADE NATURAL GAS CORPORATION
Date  3-3-15 Check NAA 8113 W _Grandridge Blvd Kennewick, WA 99336
Eng. JF Meas. N/A R—117 Primary Reg at O—11 Southridge

Dwg. Name R777Ken A 5 10

6300 Brinkley Rd Kennewick, WA




MATERIAL LIST — 8" HP Odorizer Injection Assy. sh 7

ITEM  QUANTITY _STOCK NO.

100. 16’ PB—-705X52
1017. 4 EL-7071X52
102. 7 NP—104XH
103. 3 PL-025
704. 7 PL—707
7085. 3 SA-210
106. 7 VA-71710
107. 2 vA-210
108. 7 VA-2714
708. 7 H=117

770. 3 H-34

777. 1 H-1714

DESCRIPTION
87X0.322"w.t., Bare steel pipe, API5L, Gr X52, PSL2, DRL, PO#
8” 90° Weld elbow, L.R., Gr Y52
1/2"x3” X.H. Nijpple
1/4” Pipe plug, Square head, Solid, 30004
1/2”  Pijpe plug, Square head, Solid, 3,000#
1°x8” Weld saddle
1/2”  Ball valve, WKM# 1/2R-B136—CS2—43—-S2—WR, Threaded, 3,0004
17 WKM Ball Valve #1F-B138—-CS2—-43—-S2—-WR, Threaded, 3,0004
17 SS WKM Ball Valve #1F—B138—-S8—43-S2—WR, Threaded, 3,0004
7/2” Bonney Thred—O-Let, 8-3x1/2, 3,0004
1°x1/4” Steel hexagon bushing
1°%x3” Mueller Save—A—Valve body only #63494, 14404

Note: All underground bare stee/ pipe fo be field wrapped during installation.

FAB SHOP TEST-
Injection Assy.

Odorant

CERTIFICATION PRESSURE
750 . ... psiG

V> SIZE DRAWING— Scaled
to Yo indicated

WOF 2714539
Scole 7_17/27=7"-0"|Drawn S CASCADE NATURAL GAS CORPORATION
Date  3-3-715 Check N/A 8113 W Grandridge Blvd Kennewick, WA 99336
Eng. JF Megs. N/A R—=117 Primary Reg at O—11 Southridge

Dwg. Name R777Ken A 6 10

6300 Brinkley Rd

Kennewick, WA




2" | 46" | 20" 10 12"
I ”» . »
3/4" Sy 7" 55 tub
‘ /z‘o Te/enegoz‘g/ from OII 7 ez‘ank I I
Part of HP main Glag Outret -
extension from R—117 ! & 0 . P |
3 P )
o I . 3 e _fg(gng/’on to B assy %ggg AZZTZ‘? a ‘
a N '| - | i HEATER VALVE MATERIAL 3
| \ I / OUTLET I ©
B W R I I P T T T - |
S R NP Il \V NS ~
I | i Y/ | |
ek — ‘
o o 7 /% 2l 4 ——
" 1] N7 a
% i 2/ AIV L Odorant Injection [
' B I N Assy. I N
\I‘I\ ! \'1 I ‘ ¥
|
: 3/4” St/ pip 3
%dre,ene;e;I | L
v Odorant Injection Assy Plan ‘ Tube I N
s ” !
VIEW “E—-£ | ‘
, I<5_”.| i .
Future O11 Odorizer future 011 Odorizer | ,' _ Final Grade
lines fo Telemetry Odorant Injection PT. B | = 7
from Tank Ouflet O | |l | 8559 Grave/
Bldg. T~ (replace items 103 & 110 75 | | |
(replace items 103 & 110 _ w/ items from O11Ken) I I B 4 S Grade
w/ items from O11Ken) k— J L— =
=7 =7 Future O-171
( T_q Conc french
I I
o
| I |
I_ T _I
N I ‘ I
I I
b
Iy I |
. \OUTLET
3/4” Bare N \\ //fo RV
I steel pipe <|o
- Ref O17Ken install - 1" SS  tube . , . , , .
N Ref O11Ken install N Odorizer [njection Point Detail
_ Profile fo NE
. VIEW “F=F"
\0) |
finished e o e e = =T I
grade %% LI I L I . _ T o [ P
Crade | Gravel eswo| | “F7 14 [ I o
s Ea__f_.«;ﬂ%;?______I___________ [ _ & O S
4 L_4) s CI_I 4
— .« | @ — | =
£ls (1 ~ e [x_3 I
§|8 o 1| ~SH L 3E
NI | 2-0 X D! ! 2-0 NI
NS = L“:’IEIII (. SIE
< F 5 - .
AR S /I 3/4” HP Gas Outlet \\ AN @ I
M . T to Te/emé‘o/ Blag. ‘ M
8” P _ S ‘ @ ‘ AN - 5)’ HP
1 v/ @ N 1 Yo SIZE DRAWING— Scal
INLET S +|— Odorant Injection Assy. | OUTLET 72 e — Scaled
I - Profile fo NW to 7o indicated
Zi_____L_,// VIEW “E—f” v WO# 2714539
. —_ . Scale 7 1/27=1"-0"]Di SB
/Dale: Of‘ prma/n/? 777 Fart of £ main Date 3-3-75 C:]evé: N/A gﬁ%CVIIIIDGEmndI'\Icﬁ:LUg\%L GAEenngvgcﬁI)%EAQTQI‘BO‘BI\é
extension from = to RV assy Eng.  JF Meas /A R—117 Primary Reg at O—11 Southridge
Note: All underground bare steel pipe fo be field wrapped during installation. Dwg. Name R777Ken A 7 10 6300 Brinkley Rd Kennewick, WA




3” GUIDE— 4" Pipe Leg Material

LIEM  QUAN. STOCK NO. LDESCRIPTION
1. 7’ PB-350 2"%0.154” w.t. Bore stesl pipe, Grade B, ASTM A106
2. 4’ PB-552X42 4°x0.237” w.t, Bare steel pijpe, Grade X42, SRL, AP/ 5L
3. 7 H—-159 37 UHMW Polyethylene pipe guide
4. 7 NONE 1 1/4” High strength flat washer, galvanized
5. 7 NONE 3/4"°x2” High strength flat washer
6. 7 H-298 1 1/4"-8 Heavy hex nut, ASTM A194 Grade 2H
7. 7 NONE 7 1/4"-8 x12” Continuous thread steel rod
8. 7 NONE 1/2"x4.500” Steel plote (Fab shop fabricate)
9. 7 NONE 1/2°x9"x9” Steel plate (Fab shop fabricals)
PIER REINFORCING TABLE | ¢
MAXIMUM e T TN
PLAN DIM VERT REINF TIES LOAD (LBS.) ~ g% //// \ TIES
12 DIA 445 # 1,100 ~° i 7\
\ /1
. A\
——® 18" DIA 4 - #5 #3 2,400 NS > /
. \*_:'/%\ VERT REINF
24" DIA - #6 #4 4,400 N
PLAN 1" CHAMFER
30" DIA 12 - 7 #4 6,800
36" DIA 13 - 48 # 9,900 = =2
|
42" DIA 14 - 49 #4 13,400 _I_ _________ + O
S
48" DIA 18 - 49 # 17,600 l o
_ foomm o Tl ©| FANsH cradE
NOTES: ! T A
1. FOR SOIL BEARING CAPACITY AND CONCRETE AND REINFORCING STEEL CRITERIA, — _|_____Av, i =1
SEE FOUNDATION PLAN & DETAILS. - '_____AV_____‘ - g
2. FORM SIDEWALLS OF PIER TO A POINT 6” BELOW FINISH GRADE. [I IL t
3. IF A SITE SPECIFIC GEOTECHNICAL REPORT IS NOT PROVIDED, N I
EXTEND FOUNDATION TO 3’ DEPTH FROM GRADE IN GROUND
USING 3' SONOTUBE.
SECTION
1_g” OEVIIVIV
738" 3% |73/8"
7 Nofte: FPiers fo be installed
R kY b with appropriate rebar
:|° gz
~| Q
o)
. Top View i gn
NS 3" UHMW
A /_P/pe’" gL'ﬂde 9” 9”
™ 1/ 37 Pjpe
1 1/4%1-0"
All thread rod
weld (o) —__ "
o1 1/4" Washer @
@ 1 14" XH. ik it
3 7/;?5075 oia.__/ ' Img@ ﬁli
t(? : (&) VA %_3/4?2” waster (3) t‘f
WS ™
LY
—— 4" Ppe 32 Lg@
7” (,’,‘;amfer—‘I 3
N ¢ Al .'. ﬁ:»,ljfjd Sl 3 F‘f’ - _ il Finished grade
- NN wgn . § < - Grade o _qmm - R Géaveé Crode
%9%9" N
e ©

—
—R—Ta firm bearing

Profile View

o
\\—7'0 firm bearing

Side View

3” GUIDE— 4” PIPE LEG & 18" DIA. PIER DETAIL No. 1

3" GUIDE— 4" Pipe Leg Material

ITEM  QUAN.  STOCK NO. DESCRIPTION
7. 4’ PB-552X42 4°x0.237” w.t., Bare steel pijpe, Grade X42, SRL, AP/ 5L
2. 7 H-159 3” UHMW Polysthylene pipe guide
3. 7 NONE 1 1/4"-8 x12” Continuous thread stee/ rod
4. 7 H-298 1 1/47-8 Heavy hex nut, ASTM A194 Grade 2H
5. 7 NONE 1/2"x4.500” Steel plate (Fab shop fabricats)
6. 7 NONE 1/2"%x4.026" Steel plate (Fab shop fabricats)
7. 7 NONE 1/2°%x9"x9” Steel plate (Fab shop fabricate)

PIER REINFORCING TABLE
pan oM |VerTRENF | TEs | YOIty
12" DIA 4-f5 # 1,100
——= 18" DA 4= 45 # 2,400
247 DIA - | g 4,400
30" DIA 2-4 | # 6,800
36" DIA 13-48 | # 9,900
42" DIA - | p 13,400
48" DIA B4 | # 17,600

NOTES:

1. FOR SOIL BEARING CAPACITY AND CONCRETE AND REINFORCING STEEL CRITERIA,

SEE FOUNDATION PLAN & DETAILS.

2. FORM SIDEWALLS OF PIER TO A POINT 6" BELOW FINISH GRADE.

3. IF A SITE SPECIFIC GEOTECHNICAL REPORT IS

NOT PROVIDED,

EXTEND FOUNDATION TO 3' DEPTH FROM GRADE IN GROUND

USING 3’ SONOTUBE.

Profile View

—R— To firm bearing

1’-6"
738" 3% |73/8”
TR Note: Piers fo be installed
RN ; with appropriate rebar
|
»I 1
~| 2
BN
R Top View
X 3" UHMW
N Pipe guide
“ | 3" Pipe
]
weld (Typ.) 7 1/4%1-0"
All bhread rod
7 1/4" XH. i
Hex. nut 1/2°%4.026” Dia.
% @ 1/2%4.500" Dia.__/ Eh/_ Stee! plate @
2 \ Steel plate
9 ™
S
L
—— 4" Ppe 3-2" 1g @
— Finished grade
i B b3 R Riaad
. o R Gravel  Grade
s, L
T~ 'xy“xs'@
Steel plate

—-— - ="

wle, 7
SEE N
BT
- I
\W\
ANY

~
SN

PLAN /1” CHAMFER

O
o
>
©| FINISH GRADE
J\V’ ad & g
[ A
[
————————— -+ -—— O
SECTION
1’-6”
9”.,.9"
3 gg
T Y
| i

8 :“ P Finished grade
)/
o - /3 Al E’Vi Grade
N

g
\\\—To firm bearing

Side View

3" GUIDE— 4” PIPE LEG & 18" DIA. PIER DETAIL No. Ia

Drawing Number

R117Ken A & 10

6300 Brinkley Rd

WO# 214539
Scale 3/4”=7’-0” |Drawn S8 CASCADE NATURAL GAS CORPORATION
] S/Zé_ QRA WING— Scaled |[ogte  5-5-15 Check N/A 8113 W Grandridge Blvd Kennewick, WA 9936
to ¥ indicated Eng.  JF Meas. N/A R-117 Primary Reg at O-11 Southridge

Kennewick, WA




2 ”» pe o » 2 e o
4” GUIDE— 4" Pipe Leg Maftsrial g 4~ _GUIDE- 4~ _Pipe Leg Material 0 1y
70 127
ATEM  QUAN. STOCK NO. DESCRIPTION 1B 127 47 ATEM  QUAN. STOCK NO. DESCRIPTION 1B 1270 4
7. 7’ PB-350 2°%0.154” w.l. Bare steel pipe, Grade B, ASTM A106 7. 4’ PB-552X42 4°x0.237” w.t., Bore steel pipe, Grade X42, SRL, APl 5L
» . . ” - 3
2. 4’ PB-552X42 4°x0.237” w.t, Bare steel pips, Grade X42, SRL, AF/ 5L 9/16" Drill I 3y 2 7 H-153 47 UHMW Polysthylene pipe guide 9/16" Drill ~| b
3 2 NONE 172"~ [ Jx2 1/4” Cap screw, ASTM A307, Grode B 2 holes 1= 3 2 NONE 1/2"- [ Jx2 1/4” Cap screw, ASTM A307, Grade B 2 holes
4. 7 H-153 47 UHMW Polyethylene pipe guide _/ ! N 4. 2 NONE 1/2” Heavy hex nut, ASTM A194 Grade 2H N
5. 2 NONE 1/2” Heavy hex nut, ASTM A194 Grade 2H 1/2" Steel plate N 5. 2 NONE 1/2” Heavy galvanized lock washer 1/2" Steel plate N
6. 2 NONE 1/2” Heavy galvanized lock washer . . 6. 7 NONE 1 1/4"-8 x12” Continuous thread steel rod Pi .,
" ipe Leg Top Plate Detail
P NONE 1 1/4” High strength flat washer, galvanized FPlpe Leg Jop FPlate Defail 7z H-298 1 1/47-8 Heavy hex nut, ASTM A194 Grade 2H £ipe Leg 7op /7ale L8lan
8. 7 NONE 3/47x2” High strength flat washer 8. 7 NONE 1/27x4.500” Steel plate (Fab shop fabricate)
9. 7 H-298 1 1/4"-8 Heavy hex nul, ASTM A194 Grade 2H 9. 7 NONE 1/27x4.026” Steel plate (Fab shop fabricate)
10. 7 NONE 7 1/4”-8 x12” Continuous thread steel rod 70. 7 NONE 1/2°x3"x10 1/2” Zinc coated steel plate (Fab shop fabricats)
11. 7 NONE 1/2"°x4.500” Steel plate (Fab shop fabricats) 11. 7 NONE 1/2°x9°x9” Steel plate (Fab shop fabricate)
72. 7 NONE 1/2"°x3"x10 1/2” Zinc coated steel plate (Fab shop fabricate)
13. 7 NONE 1/2"°x9"x9" Steel plate (Fab shop fabricats) PIER REINFORCING TABLE L .
R TS e
MAXIMUM ~ s J
PLAN DIM VERT REINF TIES LOAD (LBS.) g é.% //’/ \ TES
PIER REINFORCING TABLE . 12" DIA 4- 45 #3 1,100 o o
MAXIMUM N TSNS . \ /1
PLAN DIM | VERT REINF | TIES LOAD (LBS.) g Se AN TS ——=| 18" DA 4-#5 #3 2,400 \‘§\ /5&5/\
" (S| ~IzZzs
12" DIA 445 # 1,100 ~ Al o — P 100 o VERT REINF
/1 1" CHAMFER
—=| 18"DA -5 # 2,400 N 4 30" DIA 12 - 4 6,800 —
24" DIA 1 - 46 #4 4,400 \\:::/?&\ VERT REINF # # 'f’g
d PLAN 17 CHAMFER 36" DIA 13 - #8 #4 9,900
30" DIA 12 - 47 # 6,800 42" DIA 14 - 49 44 13,400 o
" _:g- p
36" DIA 13- 48 # 9,900 48" DIA 18 - #9 # 17,600 o
42" DIA M-go | 13,400 o NOTES: 7§'© FINSH GRADE
" o 1. FOR SOIL BEARING CAPACITY AND CONCRETE AND REINFORCING STEEL CRITERIA, JV’ 8 =1
48" DIA 18 - #9 # 17,600 o SEE FOUNDATION PLAN & DETALS. | AN -
€] Al 2. FORM SIDEWALLS OF PIER TO A POINT 6” BELOW FINISH GRADE. | | w
NOTES: s HNISHpg—GR x 3. IF A SITE SPECIFIC GEOTECHNICAL REPORT IS NOT PROVIDED, roo T e .
1. FOR SOIL BEARING CAPACITY AND CONCRETE AND REINFORCING STEEL CRITERIA, A al 4 " EXTEND FOUNDATION T 3 DEPTH FROM GRADE IN GROUND "
SEE FOUNDATION PLAN & DETAILS. - "____AV'____‘ - H = USING 3' SONOTUBE.
2. FORM SIDEWALLS OF PIER TO A POINT 6" BELOW FINISH GRADE. [u |L " SECTION
3. IF A SITE SPECIFIC GEOTECHNICAL REPORT IS NOT PROVIDED, M N 7’-6” -
EXTEND FOUNDATION TO 3' DEPTH FROM GRADE IN GROUND ” ” ”
USING 3’ SONOTUBE. 4547 | F 454
SECTION
16" OEVITVIN
434" 8 12" |4 3/4"
Note: Piers fo be installed
. with appropriate rebar
o
R
Note: Piers fo be installed ~
s by with appropriate rebar
N
]
N s -
) R 1’6
N 47 UHMW
}\\ Pipe guide 9” . .9”
Top View 16 - 4" Pipe
s 4" UHUW ” ”
N Pipe guide 9 9
S o e s
! réea
PP 1.1/4" XH. T
1 1/4%1"-0 Hex. nut *%4.026" Dia. o
¢ 1 tread ros (9 ¥ 1 2a.500" o,/ J/_ (thrpie “© R’EJL X
Weld (Typ.) M 1 1/4" Washer @ o ™ Steel plote =t 7
1 1/4" XH. 1 i NS |
. Hox. nut— SV 2+ pipe 6% 1ong (7) i " T
§° }:\ @ ’/?:315 %ateﬂ g ‘H ~—— 3/4°%2" Washer kV ‘N
J0 .”l’ 4" Ppe 5-2"19(7)
» :r 7 ”C‘hamfer—\ .
N » o Ko 30 i ' FZHSﬁid g:ide 2 f‘:‘ o Finished grade
4" Pppe 3-2 Lg@ o IL@’ N o . o ’”Vé"H Grade g - G‘éave{ Grode
1" Chamfer —— N ©
. ] 1/2%9%9" N
K ﬁg’/:‘/:d 54.";"6 2 g , i Finished grade Steel plate @ .
28, N ey ey rade b i T - Gng Grade
1 2%0%0" T N LI
_’9{,29, i,af’ @ —<\—7'o firm bearing To firm bearing
o Profile View Side View
—R—fa firm bearing \\—To firm bearing
» ” »
Profile View Side View 4~ GUIDE— 4~ PIPE LEG & 18~ DIA. PIER DETAIL No. Za
WOF 2714539
» ” ”
47 GUIDE= 4” PIPE LEG & 18" DIA. PIER DETAIL No. 2 Vs SIZE DRAWING— Scoted | [FE A= Tomn— CASCADE NATURAL GAS CORPORATION
to ,/ indicated Date 3-3-75 Check NA 8113 W Grandridge Blvd Kennewick, WA 9936
2 Eng. JF Meas. N/A R—117 Primary Reg at O-11 Southridge
Drawing Number  R7/7Ken A 9 10 6300 Brinkley Rd Kennewick, WA




6” Guide— 6” Pipe Leg Malerial

LIEM  QUAN.  STOCK NO. DESCRIPTION 0 v
1. 7’ PB-350 2"%x0.154” w.t. Bare steel pipe, Grade B, ASTM A106 17 W0 125 4
2. 4’ PB—-653X52 6"x0.280” w.t., Bore steel pijpe, Gr X52, API5L ! ! N
3. 2 NONE 1/2"°x2 1/4” Cop screw, ASTM A307, Grade B 94’%;/277/ | | N N
1 1
4. 7 H-154 67 UHMW Polyethylene pipe guide ™
5. 2 NONE 1/2” Heavy hex nut, ASTM A194 Grade ZH i ;i - —
6. 2 NONE 1/2” Heavy galvanized lock washer 1/2” Steel plate ?
7. 7 NONE 1 1/4” High strength flat washer, galvanized ~
8. 7 NONE 3/4°x2” Flat washer, golvazined Pipe Leg Top Plate Detail
9. 7 H-298 1 1/4"- 8 Heavy Hex. nut
70. 1 NONE 1 1/4"-8 x12” Continuous thread steel rod
71. 7 NONE 1/2°x6.625” Steel plate (Fab shop fabricats)
12. 7 NONE 1/2"°x3"x12 1,/2” Steel plate (Fab shop fabricate)
13. 7 NONE 1/2"x9"x9" Steel plate (Fab shop fabricats)
PIER REINFORCING TABLE ST
% ) TES
MAXIMUM 1
PLAN DIM | VERT REINF | TIES HAKMM ) 1’{ Ny
12" DIA R B 1,100 W Y
N
18" DIA 45 # 2,400 QS VERT REINF
— o - PLAN
24" DIA -6 # 4,400 * CHAVFER
30" DIA 12 - 47 # 6,800 o
T -
36" DIA 13 - 48 # 9,900 °
o
42" DIA 14 - 49 # 13,400 *2
48" DIA 18 - #9 # 17,600 ﬁ FINISH GRADE
NOTES: JN = g
1. FOR SOIL BEARING CAPACITY AND CONCRETE AND REINFORCING STEEL CRITERIA, PO A 2
SEE FOUNDATION PLAN & DETAILS. Y
2. FORM SIDEWALLS OF PIER TO A POINT 6" BELOW FINISH GRADE. I_I"- ——————— -q—-—- #
3. IF A SITE SPECIFIC GEOTECHNICAL REPORT IS NOT PROVIDED,
EXTEND FOUNDATION TO 3' DEPTH FROM GRADE IN GROUND SECTION
USING 3' SONOTUEE.
2’-0"
6 347, 912 3/4”
‘? TN Nofe: Piers to be installed
y .\' s with appropriate rebar.
W - b—
N R
J
~J
Top View
2’-0”
3 . 5 Y _pn
o /—6’ Pipe gu:de@ J=0"_ 10
) ‘/—5 ” Pjpe
1 1/4%1"-0"(0)
All thread rod
/ad (Typ. ”
weld ("yp .7 /4 Washer@
y @ 7 é/4 Heavy aiii Y Y
© Hex. nut IH_Z Pipe 6~ long 3
W 7/§ %6.625" Dia. 7 non ¥
:‘.’ ) @ teel plate ~—3/4%2" Washer R
N) ")
N
J 6" Pjpe 3’ L
g jp 46
1” Chamf
| —E B gue . = —r
3 | B ravel K !
mk*a s .- 1 " g’ ”E’Grade %mk th
AL R 1/2%9"%9"
Steel plate

Profile

6" GUIDE— 6~ PIPE LEG & 24

~
d\—fo firm bearing

View

-
\\—To firm bearing

Side View

" PIER DETAIL No. 3

6” Guide— 6” Pipe Leg Malerial

LIEM  QUAN.  SIOCK NO. DESCRIPTION 70 v
7. 4’ PB—-653X52 6°x0.280” w.t., Bare steel pipe, Gr X52, API5L 17170 127 g*
2. 7 H-154 6” UHMW Polyethylene pipe guide N
3 2 NONE 1/2"x2 1/4” Cap screw, ASTM A307, Grade B 956" briv N
4. 2 NONE 1/2” Heavy hex nuf, ASTM A194 Grade 2H ; Q
5. 7 NONE 1 1/4”- 8x12” Continuous thread steel rod . _/i —
6 7 H-298 7 1/4” Heavy Hex. nut 172" Steel plate. N
7. 2 NONE 1/2” Heavy galvanized lock washer ~
8 7 NONE 1/2"%6.625" Dia. Steel plate (Fab shop fabricate) Pipe Leg Top Flate Detail
9. 7 NONE 1/2"°x6.065” Dia. Steel plate (Fab shop fabricate)

10. 7 NONE 1/2°x3"%x12 1/2” Steel plate (Fab shop fabricate)
717. 7 NONE 1/2°x9"x9” Steel plate (Fab shop fabricats)
PIER REINFORCING TABLE %-'—-7’— N
MAXIMUM SlEs 4 Ny — TES
|_eiaom [veRTRENF| TES | MAXWOM S / Y
12" DIA 4- 5 s 1,100 \ Y
N
18" DIA 4- 45 # 2,400 \\\:_—::K VERT REINF
| o _ PLAN
24" DIA - 4 4,400  CHAWFER
30" DIA 12 -7 m 6,800 o
36" DIA 13 - 48 # 9,900 o
O|
42" DIA 14 - 49 m 13,400 ’:
48" DIA 18- 4 # 17,600 &l Fmish oraoe
N . _VE =1 g

1. FOR SOIL BEARING CAPACITY AND CONCRETE AND REINFORCING STEEL CRITERIA, [ AR =2
SEE FOUNDATION PLAN & DETAILS. Y

2. FORM SIDEWALLS OF PIER TO A POINT 6" BELOW FINISH GRADE. I_I‘- ——————— -q—-—- 8

3. IF A SITE SPECIFIC GEOTECHNICAL REPORT IS NOT PROVIDED,

EXTEND FOUNDATION TO 3' DEPTH FROM GRADE IN' GROUND SECTION
USING 3' SONOTUBE.
2’-0”
6 3/47 10 2] 3/4”
’g Note: Piers fo be installed
Y with appropriate rebar.
? ™y
15
N
) 2_p”
Top View
1-0”, I 1’-0”,
? 6" UHMW
N /_ Pipe guide !
N @ " Five
J
Weld (Typ. 7 1/4%1°=0"
7.1/4” He All thread rod
o @t T A Wl x

b 1/2%6,625" Dia. 1Y ; e i N
:l° \Q\ /gz‘;e/ plate = =T'A Steel plate LTJ N
o ™

T 1
N 6" Ppe 3" 1g(D)
7" Chamfer~
FE~ Finished grade =
s It S Grage N e o
T S| e T
NN | I S
| 1/2°%9 %9
| B Steel plate
I,

s o -
_\—To firm bearing

Profile View

6" GUIDE- 6" PIPE LEG & 24" PIER

Side View

DETAIL No. 3a

Vo SIZE DRAWING— Scaled
to Yo indicated

-~
\—\—7'0 firm bearing

WOF 2714539

Scale 3/4”=7"-0" |Drawn S8

Date 3-3-75

Check N/A

CASCADE NATURAL GAS CORPORATION
8113 W Grandridge Blvd

Kennewick, WA 9936

Eng. JF

Meas. N/A

Drawing Number

R117Ken A 10 10

R-117 Primary Reg atf O-11 Southridge
6300 Brinkley Rd

Kennewick, WA




